8 Shift-Reduce Parsing
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FUNCTION shift-reduce () EG
stack.push(®) // @ is the start state
input := w$ // $ marks end of input 1 S—D CC
X := first symbol in w VA C= ol
3 C=
WHILE ~stop DO C b
s := top of stack CEon
IF action[s,x] = shift t A SyMIDOL: now- Sk?%'mm?s
x = next input symbol a b $ s c
. 1 acc 1 '
ELSIF action[s,x] = reduce t // A > B Ql, s6 |57 2
pop len(B) symbols from stack -3 = |
t := stack.top() \ 3
stack.push( goto[t,A] ) oa R3__|R3 4
print( A > B ) :E 5 R 5
2 6 s6 |[s7 6 9
ELSIF action[s,x] = accept 7 R3 7
stop := True ‘ 8 R2 |R2 8
9 R2 9
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